Math 11 Rate of Change — Review #1

1. Which of the following graphs has a constant rate of change?
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2. In which graph is the rate of change increasing?
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2. In which graph is the rate of change increasing?
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4. (10,50)  Aroc=950-50
Seconds after start of race |0 |10 |20 |30 |40 |50 (50, 260) m
Distance travelled (m) 0 |50 | 80 | 120 | 180 | 250 AROC =12 00
The average rate of change from 10 seconds to 50 seconds was: A (QI 0C = 5‘-*”?;'5
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The average rate of change from | hour to 4 hours is:
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The average rate of change from interval A to B is:
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7. Which of the, following grﬁs describes average rate of change?
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. Which of the following graphs describes instantaneous rate of change?
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. The rate of change at a maximum or a minimum value is always:
a) Negative (b} Zero ¢) Positive d) Imaginary
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10. h=-2(t-3) +4

A) Find the average rate of change fromt=1t0ot=35.
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B) Find the instantaneous rate of change att = 2.
=19 t= 2,1 ~ IROC=9238-1.58
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11. The following chart shows the change in

temperature of a freezer when it is turned on. Hour Temperaturep,
1 11y -5 P2
A) Find the average rate of change from 2 to 5 hours. 2 6 < L<>:(E>
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B) Use the table to determine the equation that best models the data. QU. ADRA "i')r_fc[g
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12. h=-4.9t" + 19.2t + 400 =) ¥ .
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